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What is the stretch factor???
- The stretch factor tells you whether the graph opens up or
down. It also tells you how much to stretch the graph by.




#1 y=[x-2]-4

When no stretch factor is given
assume that the stretch factor is '""1" !

Stretch Factor: :I_

**When the stretch factor is '"'1" nothing changes !!



y=x-2|—4
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Vertex : 2. -4
Dir: Up
Stretch Factor: 1




#2 y=2x—5/+3

pore: (59

Stretch Factor: Z
T [




# 3x—2)+1

Y?—
Vertex : (zl D

Dir: WV\,

Stretch Factor: 3
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y=-2[x/+1

5 ~a|x+6
Vertex : ( 6 ' D

Dir: down
Stretch Factor: a
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45 y:—|x—2|-\-0

X1
Vertex :(2,503

Dir: wan

Stretch Factor: _j.,

When the stretch factor
= is '"1" everything stays
the same !!
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